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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

TS f] SRR B gy -
(@) What is inflation?
TS 2
(b) What is liquidity trap?
ey #1759
(c) What is meant by value of money?
TN 355 e 3 2
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(d) Give the meaning of trade cycle.

wﬁf@ﬂzsmww%%rﬁw

(¢) Mention the motives behind the demand
for money.

TN oiRa RdfRa e SRR (SHfoem)
@R 79

() What is cost-push inflation?
BRATH IS TR f 2

(99 Mention one measure of controlling
business cycle fluctuations,

w@mmﬁw«mwmmwu

(h) What is the shape of the LM curve?
LM GRISFR wrem 1 2

() State a drawback of the IS-LM model.

IS-LM 1f35 b1 wpifiey Seae |

0) Mention 2 similarity between cash
balance approach and cash transaction
approach to the quantity theory of
money.,

TR R w7 T e AN (oI
W&?'mwwqﬁm%cmwr
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2. Answer the following questions : 2x5=10
were i epTeRd U il -
{ (a) Show witha diagram the various phases

of a business cycle.

o ST AMARE v AR (& |

(b) Mention two major causes of inflation.

T RIfes oy 51 PR SE T |

fg Staie the condition of equilibrium in the
money market.

51 TERS SR 5O oead F |

(d) Define IS curve and LM curve.

IS @1 o LM @@ ke f |

(e) State Robertson’s cash  balance
equation.

e Fa% MR TSI S 0 |
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3. Answer any fourof the following questions :

5x4=20

o 2T Il BN T o -

(@)

(b)

(©

@
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Why is the cash balance equation
(M = PKT) of the quantity theory of
money regarded superior to the cash
transaction equation (MV = PT)?

ﬂﬁmqwmﬁmﬁﬂﬁmq

(M=PKT)G1 W AR
(MV=PT)WW{I%IWC$W’-&?

Discuss whether there is a relationship
between increase in money supply and
inflation.

s{mﬂﬁmﬂﬁam@{w@mﬂ“ﬁmﬂ
wqE, SCAw 4 |

Discuss the impact of inflation on
production and distribution.

Seo WF ROIR eve TArReT deK
EIGILZIE SR

What are the basic characteristics of a
business cycle?

Wmm@mmawﬁ?
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* Why does the 1S curve slope downward?

IS Go== == :‘f =7

Briefly explain she structuralist view of

nflafien .
g?=§Fii‘ﬁFE?#SKﬁqﬁiIﬁﬁﬁﬁﬁﬂ#ﬁﬁﬁﬂi

£ Answer any four of the following questions :

i 10%4=40
Eﬁﬁﬁﬂﬂ%@fﬁG@Fﬂﬂﬁﬁ?ﬁﬁﬂﬁ#ﬂ:
{a) Explain the liquidity preference theory of

(b)

(©

interest. What are its limitations? 7+3=10

s o A wghl IR T OB/
Rz 2

What is inflationary gap? Explain

inflationary gap with a diagraim. 2+8=10
qrifer s | e o Pay S
qav%ﬁ%ﬁTaaamwaxﬁm@?mwniﬁn1

Explain Fisher’s equation of exchange.
Does it provide an adequate explanation
of the changes in the yalue of money?

7+3=10
ﬁ@ﬁaﬁﬁmﬁvﬁﬁﬂmﬁrmmmaﬁTfaaﬁaﬂﬁx
oS AR T PO 2
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(6)

(d) Discuss Cambridge equation for the

(e)

determination of value of money. Do you
think this equation is superior to the
Fisher’s equation? Give reasons. 6+4=10

WWWW@@WW@W?W&
&ﬂﬁ’tﬁm%ﬂ«ﬁﬂmmqﬁqﬁ
oG 7 1 e |

«The trade cycle is purely a monetary
phenomenon.” Explain this statement of
Hawtrey. Do you agree with what
Hawtrey has stated about the causes of
trade cycle? Give reasons. 6+4=10

@WWWIWWW‘T
WE@@W?@E@W?W‘T
e |

How is the LM curve affected by the
change in the money supply and the
demand for money? Show it graphically. e

LM @RTeE s T4 e S @ SR
ﬁmma@mﬂ?mm@m@mt
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(g) Explain the nature of demand-pull
inflation. What measures would you
suggest to control such inflation?  5+5=10

SRvEEe [ErRes g RN F o3
e frg s DR ¢ < SPReeE

(h) Discuss Hicks’ theory of business cycle. 10
fata MR 5& SFLo! DA F91 |

* & X

A7—5000/842 3 (Sem—2) ECOM 2




